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Lesson # 34
Area of a Sector

In acircle, the ratio of the measures of two central angles is equal to

the ratio of the areas of the two sectors formed. %L(_\,o(
Where have we seen this before???? Lesson..... 3 \ KQ &
M 2(
Cenlva| hd% _ Sechor 3”“
360 ATC O Gnive\
Ang.
example 1: What is the area of a%%c‘ror whose area is 50.24cm?
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example 3: What is D and/or R? vA
Area of sector is 9.82 m?
CA is 45° A9L
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example 4. A circle has a radius of21 cm. r 6 m
Its central angle intercepts (goes with) an arc of 1lcm.
What is the Area of the sector corr‘espondmg with this
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